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1. Fill in the blanks :

(i) The product of place value and face value of 2 in a number 4,75,200 is ........................... .

(ii) 10 million = ........................... crores.

(iii) We cannot represents ..........................., in Roman numerals.

(iv) 1 million = ........................... lakhs.

(v) The predecessor of the smallest 6-digit number is ........................... .

(vi) 7,40,238 = 7,00,000 + 40,000 + ........................... + 30 + 8.

(vii) 1 metre is equal to ........................... mm.

(viii) In all, Roman numeration system uses ........................... symbols to denote numbers.

(ix) The value of the symbol D is ........................... .

(x) The largest 5-digit number with distinct digits is ........................... .

2. Which of the following statements are ‘true’ or ‘false’ :

(i) XCVI is equal to 94.

(ii) The product 32 × 28 to the nearest hundreds is 900.

(iii) A group of digits denoting a number is called a numeral.

(iv) The number just comes before a given number is called its successor.

(v) The predecessor of 18999 is 19000.

(vi) XCI is equal to 111.

(vii) 1 tonne is equal to 10 quintal.

(viii) 179 in Roman numerals is written as CXCXXIX.

(ix) The face value of any digit in a number is the digit itself regardless of its position in the number.

(x) 889549 comes before 889550.
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